

Located only 17 miles from Dallas/Fort Worth International Airport, Fort Worth is an easy destination from anywhere in the country.







# Fort Worth Convention Center

1201 Houston Street Fort Worth, Texas 76102 817.392.2588 Toll-free 1.866.630.2588 www.meetinfortworth.com





### Fort Worth Convention Center Capacities & Floor Plans



emnants of the past merge seamlessly with the vibrant present, making Fort Worth a sophisticated city that still holds on to its Old West charm.

It's unlikely you'll find another place with two daily cattle drives in its streets and a cultural district featuring several world-class museums. Or a pairing like the Stockyards National Historic District, with its cowboys, saloons and rodeos, and the Bass Performance Hall, a site for outstanding ballet, symphony and theater.

Sundance Square, a 35-block district of boutiques, restaurants, movie theaters, nightclubs, galleries and historic buildings, has a little of something for everyone. The city also has a nationally acclaimed Zoo, beautiful Water Gardens, Texas Motor Speedway, the second-largest sports and entertainment facility in America, and some of the finest shopping in the Southwest. Nighttime strolls are a bonus, as Fort Worth is one of the safest large cities in the country.

You'll experience the same winning combination of hometown warmth and uptown energy at the Fort Worth Convention Center, one of the Southwest's premier sites for events large and small, from corporate meetings to trade shows.



With its striking architecture and state-of-the-art facilities, this firstclass, high-tech center features:

- ★ More than 250,000 square feet of exhibit space
- ★ 28,160-square-foot ballroom (the largest in the city)
- ★ 55,000-square-foot events plaza (linked to the Water Gardens)
- ★ 38 breakout rooms
- ★ Arena with seating capacity for up to 12,918
- ★ Easily accessible dock facilities
- ★ Convenient access to 3,000 guest rooms in exceptional downtown hotels (13,000 rooms citywide)

In a city where cowboy mystique meets urban chic, Fort Worth Convention Center is the perfect place to take your event from unimaginative to unforgettable.





MEETING ROOMS	GROSS SQUARE FEET	DIMENSIONS	CEILING	MAXIMUM CAPACITIES						
				BANQUET Rounds of 8	BANQUET Rounds of 10	Auditorium	Classroom 18″ tables of 4	Classroom 30″ tables of 4	Ехнівіт Воотнs 10' x 10'	
Exhibit Hall maximu	m capacities are based upon :	square footage pe	r person	17	15	10	15	20	20	
Exhibit Hall	182,613	658' x 277'	25'	10,736	12,170	18,260	12,168	9,128	900	
Exhibit Hall A	56,508	204' x 277'	25'	3,320	3,760	5,650	3,764	2,824	280	
Exhibit Hall B	27,700	100' x 277'	25'	1,624	1,840	2,770	1,840	1,384	138	
Exhibit Hall C	22,160	80' x 277'	25'	1,296	1,470	2,216	1,468	1,108	110	
Exhibit Hall D	27,700	100' x 277'	25'	1,624	1,840	2,770	1,840	1,384	138	
Exhibit Hall E	22,160	80' x 277'	25'	1,296	1,470	2,216	1,468	1,108	110	
Exhibit Hall F	26,038	94' x 277'	25'	1,528	1,730	2,603	1,728	1,300	130	
Exhibit Annex	45,000	300' x 150'	25'	2,640	3,000	4,500	3,000	2,248	225	
Exhibit Annex is only ave	ailable with rental of entire Exhil	vit Hall								
Meeting Rooms										
100	2,156	49' x 44'	22'	160	140	258	176	136		
101	1,508	58' x 26'	14'	80	90	150	96	72		
102	2,210	85' x 26'	14'	128	140	257	112	96		
103 (A, B)	2,160	90' x 24'	14'	128	100	221	128	104		
103A	1,080	45' x 24'	14'	64	80	88	72	60		
103B	1,080	45' x 24'	14'	64	80	88	72	60		
104	1,440	60' x 24'	14'	80	90	150	96	72		
105	819	39' x 21'	14'	48	50	72	48	48		

Door Heights and Widths								
Door	Неіднт (in feet)	WiDтн (in feet)						
Door 1 (outer)	14	13.8						
Door 1 (inner)	13.9	13.8						
Door 2 (outer)	18	16						
Door 2 (inner)	19	16						
Door 4 (outer)	22.4	21.8						
Door 4 (inner)	18.3	20.75						
Door 5 (outer)	25	24						
Door 5 (inner)	22	23.8						
Door 6 (outer)	14.6	13						
Door 6 (inner)	14.5	13						
Arena Doors	17.5	28						
North & South Crossovers	9	12						

### PreFunctio

FIRST LEVEL

```
11th Street Lobby
 12th Street Lobby
13th Street Lobby
 Belt Buckle Lobby
Concourse
Southwest Corner
SECOND LEVEL
 PreFunction
Southwest Corner
 Ballroom Lobby
```

<b>N</b>	Space	
<b>N</b>	SPACE	

AREA (square footage)
2,350
1,975
2,450
9,000
16,975
2,175
15,940
2,175
7,500

Fort Worth Convention Center has 38 total meeting rooms. Our maximum capacities are calculated with tables and/or chairs in the room. Maximum capacities will be reduced when staging, audio visual equipment or any ancillary equipment is added to the room. Capacities are subject to change based on the size of head table, audio visual and catering requirements.

## Second Level

MEETING ROOMS	GROSS SQUARE FEET	DIMENSIONS	Ceiling	Maximum Capacities					
				BANQUET Rounds of 8	BANQUET Rounds of 10	Auditorium	Classroom 18" tables of 4	Classroom 30″ tables of 4	
200 Level (20)	33,849								
200	2,850	50' x 57'	18'	160	170	312	200	180	
201 (A, B, C)	5,162	89' x 58'	18'	360	360	672	320	288	
201A	1,856	32' x 58'	18'	104	100	196	132	108	
201B	1,740	30' x 58'	18'	96	100	192	120	108	
201C	1,566	27' x 58'	18'	80	100	160	80	72	
202 (A, B, C, D)	6,670	115' x 58'	18'	440	500	868	480	384	
202A	1,856	32' x 58'	18'	104	100	196	132	108	
202B	1,740	30' x 58'	18'	96	100	192	120	108	
202C	1,450	25' x 58'	18'	80	100	160	80	72	
202D	1,566	27' x 58'	18'	80	100	160	80	72	
203 (A, B, C)	5,278	91' x 58'	18'	360	400	686	320	324	
203A	1,856	32' x 58'	18'	104	100	196	132	108	
203B	1,856	32' x 58'	18'	104	100	196	132	108	
203C	1,566	27' x 58'	18'	80	100	160	80	72	
204 (A, B)	3,596	62' x 58'	18'	200	250	480	240	192	
204A	1,856	32' x 58'	18'	104	100	196	132	108	
204B	1,682	29' x 58'	18'	80	100	192	120	108	



Maximum number of guests on the second floor is 5000 at any time.

### Ballroom

Gross Square Feet	DIMENSIONS	Ceiling	Maximum Capacities						
			BANQUET Rounds of 8	BANQUET Rounds of 10	Auditorium	CLASSROOM 18" tables of 4	CLASSROOM 30" tables of 4		
28,160	128' x 220'	23'	1,960	2,020	3,000	2,168	1,728		
8,192	128' x 64'	23'	480	550	960	576	504		
11,520	128' x 90'	23'	704	700	1,392	800	640		
8,192	128' x 64'	23'	480	550	960	576	504		
	28,160 8,192 11,520	28,160 128' x 220' 8,192 128' x 64' 11,520 128' x 90'	28,160 128' x 220' 23' 8,192 128' x 64' 23' 11,520 128' x 90' 23'	28,160         128' x 220'         23'         1,960           8,192         128' x 64'         23'         480           11,520         128' x 90'         23'         704	Banquet Rounds of 8         Banquet Rounds of 10           28,160         128' x 220'         23'         1,960         2,020           8,192         128' x 64'         23'         480         550           11,520         128' x 90'         23'         704         700	Banquet         Banquet         AUDITORIUM           28,160         128' x 220'         23'         1,960         2,020         3,000           8,192         128' x 64'         23'         480         550         960           11,520         128' x 90'         23'         704         700         1,392	Banquet         Banquet         Auditorium         Classroom           28,160         128'x 220'         23'         1,960         2,020         3,000         2,168           8,192         128'x 64'         23'         480         550         960         576           11,520         128'x 90'         23'         704         700         1,392         800		

The largest in the city, the ballroom at Fort Worth Convention Center holds a maximum of 3,000 guests at any time



From large general sessions to rock concerts, the Arena has been the site of thousands of crowd-pleasing events.



Meeting Rooms	Gross Square Feet	DIMENSIONS	Ceiling	Maximum Capacities					
				BANQUET Rounds of 8	BANQUET Rounds of 10	Auditorium	CLASSROOM 18" tables of 4	CLASSROOM 30" tables of 4	Ехнівіт Воотнs 10' x 10'
Arena Seating	10,418 permane	ent seats		2,500 tem	porary seats		44 wheelchair	accessible with co	mpanion seats
Arena Floor	25,960	110' x 236'	85'	1,520	1,730	2,596	1,728	1,296	125
Arena floor seating cap	acity varies according to eve	nt specifications							
Arena Rooms (18)	23,112								
106	1,276	29' x 44'	10'	72	70	127	84	48	
107	558	18' x 31'	10'	32	30	55	20	16	
108*	2,090	44' x 47.5'	10'			206			
109	608	19' x 32'	10'	32	30	60	20	16	
110 (A, B)	2,376	54' x 44'	10'	136	120	277	120	104	
110A	1,188	27' x 44'	10'	64	60	126	72	60	
110B	1,188	27' x 44'	10'	64	60	126	72	60	
111	640	20' x 32'	10'	32	30	65	40	32	
112	535.5	21' x 25.5'	10'	32	30	50	32	24	
113	1,344	42' x 32'	10'	72	60	137	72	56	
114	2,332	53' x 44'	10'	128	140	225	128	96	
120	682.5	21' x 32.5'	10'	40	40	65	40	32	
121A	2,508	57' x 44'	10'	144	140	250	168	120	
121B	2,574	58.5' x 44'	10'	144	140	250	168	120	
121C	1,958	44.5' x 44'	10'	112	110	209	112	96	
121D	1,958	44.5' x 44'	10'	112	110	209	112	96	
121E	1,452	33' x 44'	10'	80	80	120	84	60	
121F	1,408	32' x 44'	10'	80	80	120	84	60	
122	682.5	21' x 32.5'	10'	40	40	65	40	32	

\*108 is the Worth Amphitheater with a stage and 206 permanent upholstered seats.





